UNLT « OECTION : - TOWNSEI? =1 £ |

H
L: 1147 B: 11147 L/R : 1 G/GHIX : 0.612 (| Pt1: 6518.8  Bw = 2580.7 #||
3002 : 0.8 W2 0.23 1S : DATE :627 96 || 0.0 ERR *||
d: L% Tr :0.025671 GE : 6822.0 RANGE : 1 0.0 ERR #||
:::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::,::::::::.::::::::::::::::::1 | 0.0 ERR *l |
i . i
VOL1: 1433 PSIA Ll : 2553.2 RESV.TEMP  185.5 |[Pc2-PW2= 5126.8  Pwl = 6660.0 #|
VOL 2 : PSIA 2 : [ ERR ERR #||
VOL 3 PSIA 3 : SHUT-IN PR= 3433.2 I ERR ERR #||
VOL 4 : PSIA 4 : H ERR - ERR t§|
_ ‘]
PCR: 671 ’ 1 p: 1000 £||
R : 365 [ #|]
||Bc2/(Pc2-Pw2) =  2.299 £]|
LINE | BATE ] | | RATE 2 | | RATE 3 | | RATE 4 | [ ERR 8|
| l I l .' I l | H ERR !
| ISt ] CaN | CIST | 2N | CIST 2@ | 15T |z || ERR #||
| | | | | l | | H |
Do | 1493 14937 0.000 | 0.000 | 0.000 | 0.000 | 0.000 |  0.000 || #|
oW sS4 53| 53| 53| 54| 53| 534 | 534 ||[Pc2/Pc2-Pulln = 2.299 £]|
3o0Ts | MSS|OB5.5 | B55 | G455 | 6455 | S4S5 T 6455 | 6455 ]| ERR #[]
¢ T L S8.T| S89.7 | 589.7| 5897 | 589.7 | 589.7 | 589.7 | 5697 || ERR 31
PR (est) |  3.81 | | 0.00 | [ 0.00 | |00 | ERR #||
SM(est) | 0811 | 0.80 | ERR | ERR | ERR | ERR | ERR |  ERR || /'*H
6 T | 4.1| 483.8| ERR | ERR | ERR | ERR | ERR | ERR || MF: Q  3.432 |
TOGEMT | 14267 14102 ER® 1 TR ' won 0wy 0 g | g | ERR #|
B e 0 LIOTLSST ERA | @R BRK | ER® | ERR | ERR || ERR £[]
9 l-e-§ | OMl| 0411 ERR | ERR | ERR | ERR | ERR |  ERR || ERR £
0 Pt | 255300 255320 0.0 0.0 0.0 0.0 0.0 0.0 | #||
11 Pt2 71000} 6518.6 | 6518.8 | 0.0 0.0 0.0 0.0 0.0 0.0 || £
12 Fr [0.025671 10.025671 |0.025671 |0.025671 [0.025671 [0.025671 |0.025671 |0.0256714 || #||
13 FesFrfl | 12.275 | 12.419) ERR | ERR | ERR | ERR | ERR |  ERR [ %]
4 Fogm | 18.3: | 18.54| ERR | ERR | ERR | ERR | ERR | ERR || #]
ISL/(FeQu)] 335.6 | 343.8| ERR | ERR | ERR | ERR | ERR |  ERR || £
16 B |139.0641 |1411874 | ERR | ERR ' T 0 ¢ g #|]
I W2 | 6658.0| 6660.0 | ERR | ERR | ik | AR | ERR |  ERR || #]
18 Ps2 | 11368.3 | 11301.7 | ERR | ERR | EAR | ERR | ERR |  ERR [ #|]
3 B | 397L7] 3361.8| ERR | ERR | ERR | ERR | EMR | ERR || %]
WP | 19624 2951.5| ERR | ERR | ERR | ERR | ERR |  ERR || #|
d B | 4Ml| 441| ERR | ERR | ERR | ERR | ERR | ERR || £
oo L6 62| L6 | L62|  1.62| 1621 1.82] 152 || £
B0 | 0.80] 0.820] R | ERR | ERR | ERR | ERR | ERR || FORM €122-D £]|
I



